
DUAL BELT CONVEYOR 3’ WIDE, Model BCD3-3305 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

DRIVE  
SECTION 

MIDDLE 
SECTION 

TAKE UP 
SECTION 



DUAL BELT CONVEYOR 3’ WIDE, Model BCD3-3305 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

TAKE UP SECTION 

DRIVE SHAFT w/PILLOW BLOCKS  
and PASTIC SPROCKETS 

DRIVE SECTION 



DUAL BELT CONVEYOR 3’ WIDE, Model BCD3-3305 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

TAKE UP SECTION 

BELT w/o PUSHERS 

GUIDE PLATE, 3/16’ (Stainless Steel) 

TRANSFER  
PLATE-PASSENGER 

TRANSFER  
PLATE-DRIVER 

FIBERGLASS GRATING (optional) 



DUAL BELT CONVEYOR 3’ WIDE, Model BCD3-3305 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

STAND&BRACKET  

PILLOW BLOCK for drive shaft 

DRIVE SHAFT w/KEYWAYS 

PLASTIC SPROCKET 
w/SPACERS 

 CHAIN COUPLING 

 GEAR DRIVES ELETRIC  
    MOTOR ASSEMBLY 

ELETRIC GEAR MOTOR 

SHIMS 

.TRANSFER PLATE 

DRIVE SECTION 

INTERMEDIATE SHAFT 

COVERS 
-for Gear Drive 



DUAL BELT CONVEYOR 3’ WIDE, Model BCD3-3305 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

 SUPPORT ROLLER ASSEMBLY 

.ROUND U BOLTS 

VARIABILE FREQUENCY DRIVE 

MIDDLE SECTION 

SHAFT for PLASTIC SUPPORT ROLLERS 
1/4” x 3/4” x 35-3/4” LG 



DUAL BELT CONVEYOR 3’ WIDE, Model BCD3-3305 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

ITEM Description PART No. QTY. 

1. 
 

TAKE UP SECTION-FRAME 
 
 
TAKE UP SECTION  Includes All  
Components (Pillow Blocks Support Rollers, 
Belt, etc..) 
 

BCN3AA-3305 
 
 

BCN3A-3305 

1 
 

2. 
 

BELT w PUSHERS 
 

BCN3EWP 120’ 
 

3. BELT W/O pushers 
 

BCN3ENP 120’ 

4. STEEL  ANGLE 
-1 1/2 *1 1/2*1/4*20”LG  
-to hold fiberglass grating 
 

BCN3 
 

6 

5 . GLIDE PLATE  n 

6. TRANSFER PLATE-PASSENGER. 1/4*6”*36” 
 
 
TRANSFER PLATE-DRIVE 1/4*6”*36” 
 
 
Socket Head Cap Screws 3/8-16*1” LG 
w/ Flat Head 
w/ Hex Nut 3/8”-16 

BCN3AE6-3305 
 
 

BCN3AF6-3305 
 
 

SHCS3816100 
 

HN3816 

1 
 
 

1 
 
 

4 
 
 

   TAKE UP SECTION 



DUAL BELT CONVEYOR 3’ WIDE, Model BCD3-3305 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

ITEM Description PART No. QTY. 

1. 
 

DRIVE SECTION-FRAME 
 
DRIVE SECTION Includes All  
Components (Drive Shafts, Pillow  
Blocks, Support Roller Belt, etc..) 

BCN3BA-3305 
 

BCN3B 

1 
 

2. 
 

STAND&BRACKET PROXIMITY SWITCH 
PROXIMITY SWITCH 
COLLAR / TARGET 

CN1A-CPX 
CN1SW 

CN1A-CPXB 

1 
1 
1 

3. SHAFT w/ KEYWAYS BCN3BH-3305 4 

4. PILLOW BLOCK FOR SHAFT 
Pillow block 2” 
-w/Screw Fastener Sets 1/2”-13*2 1/2”LG 
-Hex Head Cap Screw 1/2”-13*2 1/2”LG 
-Flat Washer 1/2” 
-Split Lock Washer1/2” 
-Hex Nut 1/2”-13 

- 
WA1WB 

- 
HHCS1213225 

FW12125 
SLW1/2 
HN1213 

 

 
8 
 

16 
32 
16 
16 

 

5.  
 
 

PLASTIC SPROCKET w/ 
-SPACERS 

BCN3BP-3305 
BCN1BS 

40 
4 

6. CHAIN COUPLING Assembly w/ 
-CHAIN 

CC8018X2X2 4SETS 
4 
 

7. GEAR DRIVES ELETRIC MOTOR ASSEMBLY 
-GEAR DRIVE 
-ELECTRIC MOTOR 
-w/Screw Fastener Sets 3/4”-10*3 1/2”LG 
-Hex Head Cap Screw 3/4”-10*3 1/2”LG 
-Flat Washer 3/4” I.D. 
-Split Lock Washer3/4” 
-Hex Nut 3/4”-10 for gear drive 

BCN3BG 
BCN1BGB 

BCN1BGMO7.5-1800 
 

2 
 

2 
2 
8 

8. SHIMS 2 1/2”*9” (for 2” Pillow Blocks,8pcs.) 
              2-1/2’’x 2-1/2’’ 

- 16 
16 

9. -TRANSFER PLATE-PASSENGER. 1/4*7”*36” 
-TRANSFER PLATE-DRIVE 1/4*7”*36” 
 

BCN3EF7-3305 
BCN3EF7-3305 

1 
1 

10. SHAFT 2” for Gear Drive  w/ 
KEYWAYS 
INTERMEDIATE SHAFT 

BCN3BGBS 2 
4 
1 

11. COVERS 
-For Gear Drive 

 1 

   DRIVE SECTION 



DUAL BELT CONVEYOR 3’ WIDE, Model BCD3-3305 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

ITEM Description PART No. QTY 

1. SUPPORT ROLLER ASSEMBLY 
Includes All UHMW Spacers and Shaft 3/4” 
 -For take up and for drive, for each DRIVER middle   section 
 -UHMW SPACERS for passenger side 

BCN3QU-3305 
 
 
BCN3RU3 

50 
 
 

100 

2. SHAFT for PLASTIC SUPPORT ROLLERS 
1/4”*3/4”*35-3/4”LG 

BCN3RU2 50 

3. ROUND U BOLTS 
1/4”*3/4”*2-1/4” 

UB-RO25X075X225 50 

4. 
 

VARIABILE FREQUENCY DRIVE BCN3VFD 1 
 

5. 
 

MIDDLE SECTION 
 
MIDDLE SECTION Including 
 All Components  
(support Rollers, Belt, etc..) 

BCN3CA-3305 
 
BCN4C-n 
 

10+2 
 

10+2 
 
 

   ROLLER SUPORT 


	2.pdf
	BCN3.pdf
	A.V.W. EQUIPMENT 






